13

4= E5F 2RBERE B 2

==> R13

13

#1: 13 FfE(196.16) #2: 12 FLA(154.59) #3: 14 Catchall(150.9)

1 NS: =6k 5REHKGHO) 16 14 NS: 15fR5E BRIZEN(BAC) 15 VP:| 9.23 10.77| Total VP: 143.95 Rank:
EW: #EER $E(88EAC) -15 EW: 5R{Z8B ERH#EE(F0) -1 IMP:{ 13 : 15 6
— . I
#1 # 832 4SE5 -450 Mean: 4SE6 480 3.0 1 » QJ94 6DS6 1370 Mean: 6DS6 1370 10.0 5
v J6 3NW6 -490 -570  4SE5 450 3.0 2 v KQJ8 6DN6 1370 900  6DN6 1370 100 1
¢ J87654 Dif: 40 NS:3 4HW6 480 3.0 4 *J7 Dif: 0 NS:10 3NS7 720 5.0 1
a Q4 IMP: 1 EW:-2 4HE6 -480 30 3 » 762 IMP: 0 EW:-10 4SS6 680 6.0 2
s A5 » KQT64 3NW6 490 20 1 s 73 5DS6 620 7.0 4
v AK72 v 9543 6CW6 920 80 2 | v T7643 3NN-1 100 140 1
+ Q93 S 6HW6 980 9.0 1 ¢ 98
& K765 & AT92 & JT98
®IVEON o097 ®N A6
N ~~~~~ ¢QT8 ~2 v A9
S ~~~~~ ¢ AKT2 ~ 2 ¢ AKT65432
E 6~654 aJ83 ~~ aQ
W 6~654 ~ ~
#3 » KQT 3CS3110 Mean: 3NS4 430 7.0 1 » KQ62 2CS4 130 Mean: 3DN4 130 20 1
v 94 1NN4 180 140  3NS3 400 60 1 v A64 2CN4130 80  3CS4 130 20 2
+ AB2 Dif: -70 NS:-1 2NS4 180 1.0 1 ¢ 9765 Dif: 0 Ns:2 2cs4 130 20 7
» JT654 IMP: -2 EW:-1 1NS4 180 1.0 1 » 95 IMP: 0 EW:-2 2CN4 130 20 1
& J963 s 752 1NN4 180 1.0 1 » J53 2HE-1 100 10 1
v AKQ75 v J6 2Ccs4 130 00 1 + v J8752 5CS-1 100 -50 1
¢ 985 ¢ Q743 1NS3 150 0.0 1 ¢ AQ3 3NXN-1 200 -70 1
&3 & A987 3CS3 110 1.0 1 & T6
PIVEeN ,A84 2NS2 120 1.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2Ccs3 110 1.0 1 42 99
S 3~~~1 o KJT 1NS1 90 20 2 42 ¢ KJ4
E ~~~~~ aKQ2 2NS-1 50 50 1 ~ ~ & AJB743
W ~~~~~ 3NS-2 100 6.0 1 ~~
#5 » 653 5CXW-2 300 Mean: 4HS4 620 120 2 » AT632 3SN3 140 Mean: 4CE-2 200 50 1
v AJ6542 3CW3-110 o0 5CXW-2 300 70 1 v AT73 2SS3140 20 4DS4 130 3.0 1
. Q2 Dif: 410 NS:7 3HS4 170 50 1 ¢ T6 Dif: 0 NS:3 3SN3 140 30 1
A T6 IMP: 9 EW:3 4HS-1 100 30 3 » J9 IMP: 0 EW:-3 3DS3 110 30 1
a T2 » KQ97 3CW3 110 3.0 2 475 2sS3 140 30 1
v 87 v K93 1NW2 120 30 1 —_ v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 -40 1 ¢ 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 200 50 2 & AK653 4SN-1 50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 ®N , Q94 3SN-1 50 20 2
N ~121~ «QT 32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 3 2 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 ~~ aT2
W 2~~~2 ~ ~
#7 & A96 4SS-4 -400 Mean: 4SS5 650 9.0 1 » Q54 3NW3 -400 Mean: 3NW-2 100 100 1
v QJ84 5DXE-1200 240 4SS4 620 9.0 3 v Q7 4HW4 -420 -370 3NW3 -400 1.0 1
. Dif: -600 NS:-12 5DXE-1 200 10 5 ¢ 9542 Dif: 20 NS:-1  4HW4 420 20 1
» KQ9865 IMP: -12 EW:1 3NE-2 200 1.0 1 » KT93 IMP: 1 EW:2 3NW5 460 30 1
» 8732 T 3CN4 130 3.0 1 & AJT62
v K962 + v T53 SDE- 100 40 1 v KT
+ KQ72 ¢ AJ9654 5S8S-1 100 -8.0 1 ¢ JT83
aJ S & AT2 4SS-4 400 -12.0 1 & A7
®eveN L KQJ54 ®IveN L K83
N 4~~4~ oA7 ~ ~ ¢ J642
S 4~~3~ 4T83 ~ ~ ¢ Q7
E ~4~~1 a743 53 & Q654
W ~4~~1 53
#9 » KT43 4NN4 430 Mean: 4NN4 430 50 1 » 32 1NW2 -120 Mean: 3SW-2 200 80 1
v K3 3NN5460 260 4HS5 450 50 1 v KT832 1NW4 -180 -130  4SW-1 100 60 1
+ Q54 Dif: -30 NS:5 3NS5 460 50 1 + K8 Dif: 60 NS:0 2HN2 110 60 1
» AK63 IMP: -1 EW:-5 3NN5 460 50 5 » AT74 IMP: 2 EW:2 2sw2 410 1.0 1
a7 # J9862 4HN4 420 40 1 » K94 1NW1 90 1.0 6
v JT62 v 94 6NN-1 50 7.0 2 + v 64 1NW2 120 00 1
¢ AJT983 *2 5HN-1 50 7.0 1 + QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 & 962 1NW4 180 -20 1
PEVEN ,AQ5 6NN-2 100 80 1 ®N ,JT6 3DXS-4 1100 -14.0 1
N ~~ 445 ¢AQ875 ~ ~ ¢ Q95
S ~~445 ¢K76 ~ ~ ¢ 9732
E ~~~~~ aJ4 21 & KQ3
W ~~~~~ 21




4= E5F 2RBERE B 2

==> R13

13

#1: 13 FfE(196.16) #2: 12 FLA(154.59) #3: 14 Catchall(150.9)

NS: HEZE KEJHGHO) 0 3 NS: EH %= ZIE15(BAC) -9 VP:| 12.83 : 7.17 Total VP: 101.19 Rank:
EW: £25 5 Mg R(EAC) 9 EW: 2BiEiE REH(F0) 0 IMP:| 12 : 4 13
— I
# 832 4HW6 -480 Mean: 4SE6 480 3.0 1 » QJ94 4SS6 680 Mean: 6DS6 1370 10.0 5
v J6 4HW6 -480 -570 4SE5 450 3.0 2 v KQJ8 4SS6 680 900 6DN6 1370 100 1
¢ J87654 Dif: 0 NS:3 4HW6 480 3.0 4 *J7 Dif: 0 NS:-6 3NS7 720 5.0 1
a Q4 IMP: 0 EW:-3 4HE6 -480 30 3 » 762 IMP: 0 EW:6 4SS6 680 6.0 2
» KQT64 3NW6 490 20 1 s 73 5DS6 620 7.0 4
v 9543 6CW6 920 80 2 | v T7643 3NN-1 100 140 1
S 6HW6 980 9.0 1 ¢ 98
& AT92 & JT98
» J97 ®N 4, A6
v QT8 ~ 2 v A9
¢ AKT2 ~ 2 ¢ AKT65432
» J83 ~~ a&Q
» KQT 2NS-1-50 Mean: 3NS4 430 7.0 1 » KQ62 3CS4 130 Mean: 3DN4 130 20 1
v 94 1NS190 140  3NS3 400 60 1 v A64 2CS4130 80  3CS4 130 20 2
+ AB2 Dif: -140 NS:-5 2NS4 180 1.0 1 ¢ 9765 Dif: 0 NS:2 2CS4 130 20 7
» JT654 IMP: -4 EW:2 1NS4 180 1.0 1 » 95 IMP: 0 EW:-2 2CN4 130 20 1
a 752 1NN4 180 1.0 1 » J53 2HE-1 100 10 1
v J6 2Cs4 130 00 1 + v J8752 5CS-1 100 -50 1
¢ Q743 1NS3 150 0.0 1 ¢ AQ3 3NXN-1 200 -70 1
& A987 3CS3 110 1.0 1 & T6
» A84 2NS2 120 1.0 1 POIVEN 4 A7
v T832 2Ccs3 110 1.0 1 42 99
o KJT 1NS1 90 20 2 42 ¢ KJ4
» KQ2 2NS-1 50 50 1 ~ ~ & AJB743
3NS-2 100 6.0 1 ~~
» 653 4HS-1-100 Mean: 4HS4 620 120 2 » AT632 4CE-2200 Mean: 4CE-2 200 50 1
v AJ6542 4HS-2-200 © 5CXW-2 300 70 1 v AT73 4SN-3 -150 20 4DS4 130 3.0 1
* Q2 Dif: 100 NS:-3 3HS4 170 50 1 ¢ T6 Dif: 350 NS:5 3SN3 140 30 1
A T6 IMP: 3 EW:5 4HS-1 100 30 3 » J9 IMP: 8 EW:5 3DS3 110 30 1
a T2 » KQ97 3CW3 110 3.0 2 475 2853 140 30 1
v 87 v K93 1NW2 120 30 1 —_ v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 -40 1 + 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 200 50 2 & AK653 4SN-1 50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 ®N , Q94 3SN-1 50 20 2
N ~121~ «QT 32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 3 2 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 ~~ aT2
W 2~~~2 ~ ~
& A96 5DXE-1 200 Mean: 4SS5 650 9.0 1 » Q54 3NW3 -400 Mean: 3NW-2 100 100 1
v QJ84 5DXE-1200 240 4SS4 620 9.0 3 v Q7 3NW3 -400 -370 3NW3 -400 1.0 1
. Dif: 0 NS:-1 5DXE-1 200 10 5 ¢ 9542 Dif: 0 NS:-1  4HW4 420 20 1
» KQ9865 IMP: 0 EW:1 3NE-2 200 1.0 1 » KT93 IMP: 0 EW:1 3NW5 460 30 1
T 3CN4 130 3.0 1 s AJT62
+ v T53 5DE-1 100 40 1 v KT
o+ AJ9654 58S5-1 -100 -80 1 + JT83
S & AT2 4SS-4 400 -12.0 1 & A7
» KQJ54 P¢VeSN , K83
v A7 ~ ~ ¢ J642
~ ¢ T83 ~ ~ ¢ Q7
1 743 53 & Q654
1 53
» KT43 3NN5 460 Mean: 4NN4 430 50 1 » 32 1NW1 -90 Mean: 3SW-2 200 80 1
v K3 3NN5460 260 4HS5 450 50 1 v KT832 2SW2 -110 -130  4SW-1 100 60 1
+ Q54 Dif: 0 NS:5 3NS5 460 50 1 + K8 Dif: 20 NS:1  2HN2 110 60 1
» AK63 IMP: 0 EW:-5 3NN5 460 50 5 » AT74 IMP: 1 EW:-1  2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 » K94 1NW1 90 1.0 6
vJ v 94 6NN-1 50 7.0 2 + v 64 1NW2 120 00 1
* *2 5HN-1 50 7.0 1 + QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 & 962 1NW4 180 -20 1
& AQ5 6NN-2 100 -80 1 POVEN L, JT6 3DXS-4 1100 -14.0 1
N v AQ875 ~ ~ ¢ Q95
S + K76 ~ ~ ¢ 9732
E a J4 21 & KQ3
w 21




4= E5F 2RBERE B 2

==> R13

13

#1: 13 FfE(196.16) #2: 12 FLA(154.59) #3: 14 Catchall(150.9)

3 NS: ZEF 7= EIEMEAC) -9 2 NS: EEZ RENE(BO) 0 VP:| 7.17 12.83| Total VP: 146.91 Rank:
EW: E&E SEM(EF0) 0 EW: Z5iH MIER(BAC) 9 IMP:| 4 12 5
— I
# 832 4HWG6 480 Mean: 4SE6 480 3.0 1 » QJ94 4SS6 -680 Mean: 6DS6 1370 10.0 5
v J6 4HW6 480 -570  4SES 450 3.0 2 v KQJ8 4SS6 -680 900  6DN6 1370 100 1
¢ J87654 Dif: 0 NS:3 4HW6 480 3.0 4 *J7 Dif: 0 NS:-6 3NS7 720 5.0 1
a Q4 IMP: 0 EW:-3 4HE6 -480 30 3 » 762 IMP: 0 EW:6 4SS6 680 6.0 2
s A5 » KQT64 3NW6 490 20 1 s 73 5DS6 620 7.0 4
v AK72 v 9543 6CW6 920 80 2 | v T7643 3NN-1 100 140 1
+ Q93 S 6HW6 980 9.0 1 ¢ 98
& K765 & AT92 & JT98
®IVEON o097 ®N A6
~~n~~~ 9QT8 ~2 v A9
~ ~ ~ ~ ~ 4 AKT2 ~ 2 ¢ AKT65432
6~654 aJ83 -~ aQ
6~654 ~ ~
#3 » KQT 2NS-150 Mean: 3NS4 430 7.0 1 » KQ62 3CS4 -130 Mean: 3DN4 130 20 1
v 94 1NS1-90 140 3NS3 400 60 1 v A64 2CS4-130 80  3CS4 130 20 2
+ AB2 Dif: 140 NS:-2 2NS4 180 1.0 1 ¢ 9765 Dif: 0 Ns:2 2cs4 130 20 7
» JT654 IMP: 4 EW:5 1NS4 180 1.0 1 » 95 IMP: 0 EW:-2 2CN4 130 20 1
& J963 s 752 1NN4 180 1.0 1 » J53 2HE-1 100 10 1
v AKQ75 v J6 2Ccs4 130 00 1 + v J8752 5CS-1 100 -50 1
¢ 985 ¢ Q743 1NS3 150 0.0 1 ¢ AQ3 3NXN-1 200 -70 1
3 & A987 3CS3 110 1.0 1 & T6
PIVEeN ,A84 2NS2 120 1.0 1 POIVEN 4 A7
3 ~~~1 ¢T832 2Ccs3 110 1.0 1 42 99
3~~~1 oKJT 1NS1 90 20 2 42 ¢ KJ4
~~~~~ aKQ2 2NS-1 50 50 1 ~ ~ & AJB743
~~ o~~~ 3NS-2 100 6.0 1 ~~
#5 » 653 4HS-1 100 Mean: 4HS4 620 120 2 » AT632 4CE-2 -200 Mean: 4CE-2 200 50 1
v AJ6542 4HS-2200 o 5CXW-2 300 70 1 v AT73 4SN-3150 20 4DS4 130 3.0 1
. Q2 Dif: -100 NS:-5 3HS4 170 50 1 ¢ T6 Dif: -350 NS:-5 3SN3 140 30 1
A T6 IMP: -3 EW:3  4HS-1 100 30 3 » J9 IMP: -8 EW:-5 3DS3 110 30 1
a T2 » KQ97 3CW3 110 3.0 2 475 2sS3 140 30 1
v 87 v K93 1NW2 120 30 1 —_ v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 -40 1 ¢ 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 200 50 2 & AK653 4SN-1 50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 ®N , Q94 3SN-1 50 20 2
N ~121~ «QT 32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 3 2 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 ~~ aT2
W 2~~~2 ~ ~
#7 & A96 5DXE-1 -200 Mean: 4SS5 650 9.0 1 » Q54 3NW3 400 Mean: 3NW-2 100 100 1
v QJ84 5DXE-1-200 240  4SS4 620 9.0 3 v Q7 3NW3 400 -370 3NW3 -400 1.0 1
. Dif: 0 NS:-1 5DXE-1 200 10 5 ¢ 9542 Dif: 0 NS:-1  4HW4 420 20 1
» KQ9865 IMP: 0 EW:1 3NE-2 200 1.0 1 » KT93 IMP: 0 EW:1 3NW5 460 30 1
» 8732 T 3CN4 130 3.0 1 & AJT62
v K962 + v T53 SDE- 100 40 1 v KT
+ KQ72 ¢ AJ9654 5S8S-1 100 -8.0 1 ¢ JT83
J S & AT2 4SS-4 400 -12.0 1 & A7
®eveN L KQJ54 ®IveN L K83
4 ~~ 4~ 9oA7 ~ ~ ¢ J642
4 ~~3~ oT83 ~~ ¢ Q7
~4~~1 a743 53 & Q654
~4~~1 53
#9 » KT43 3NN5 -460 Mean: 4NN4 430 50 1 » 32 1NW1 90 Mean: 3SW-2 200 80 1
v K3 3NN5 -460 260  4HS5 450 50 1 v KT832 2SW2 110 -130  4SW-1 100 60 1
+ Q54 Dif: 0 NS:5 3NS5 460 50 1 + K8 Dif: 20 NS:1  2HN2 110 60 1
» AK63 IMP: 0 EW:-5 3NN5 460 50 5 » AT74 IMP: -1 EW:-1 2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 & K94 1NW1 90 1.0 6
v JT62 v 94 6NN-1 50 7.0 2 + v 64 1NW2 120 00 1
¢ AJT983 *2 5HN-1 50 7.0 1 + QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 & 962 1NW4 180 -20 1
PEVEN ,AQ5 6NN-2 100 80 1 ®N ,JT6 3DXS-4 1100 -14.0 1
N ~~ 445 ¢AQ875 ~ ~ ¢ Q95
S ~~445 ¢K76 ~ ~ ¢ 9732
E ~~~~~ aJ4 21 & KQ3
W ~~~~~ 21




St - - 2
13 1142 F<F 2RABEEE HL e == RI3 13
L v L
Vo axq
#1: 13 7E1%(196.16) #2: 12 ML A(154.59) #3: 14 Catchall(150.9)
4 NS: fal B Z5EEEH0) 11 5 NS: #lEF BRFR(BAC) 2 VP:| 12.83 : 7.17 Total VP: 117.54 Rank:
EW: ShER #RAEEEIC) 2 EW: B8/ BREFR(FHO) 1 IMP:| 25 : 17 8
— - I
#1 832 4HEG6 -480 Mean: 4SE6 480 30 1 |[|#2 & QJ94 6DS6 1370 Mean: 6DS6 1370 100 5
v J6 6CW6 -920 -570 4SE5 450 3.0 2 v KQJ8 6DS6 1370 900  6DN6 1370 100 1
¢ J87654 Dif: 440 NS:3 4HW6 480 3.0 4 *J7 Dif: 0 NS:10 3NS7 720 5.0 1
a Q4 IMP: 10 EW:8 4HE6 -480 30 3 » 762 IMP: 0 EW:-10 4SS6 680 6.0 2
s A5 » KQT64 3NW6 490 2.0 1 ||e KT852 s 73 5DS6 620 7.0 4
v AK72 v 9543 6CW6 920 80 2 ||w 52 | v T7643 3NN-1 100 140 1
¢ Q93 . 6HW6 980 90 1||eQ + 98
& K765 & AT92 & AK543 & JT98
®IVEON o097 ®IVeN L A6
N ~~~~~ ¢QT8 N ~6~~2 vA9
S ~~~ ~ ~ 4 AKT2 S ~ 6 ~ ~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 2NS4 180 Mean: 3NS4 430 70 1 ||#4 » KQ62 2CS4 130 Mean: 3DN4 130 20 1
v 94 1NS3 150 140  3NS3 400 60 1 v A64 2CS4130 80  3CS4 130 20 2
+ AB2 Dif: 30 NS:1 2NS4 180 1.0 1 ¢ 9765 Dif: 0 Ns:2 2cs4 130 20 7
» JT654 IMP:1 EW:0 1NS4 180 1.0 1 » 95 IMP: 0 EW:-2 2CN4 130 20 1
» J963 s 752 1NN4 180 1.0 1 ||a T84 » J53 2HE-1 100 10 1
v AKQ75 v J6 2Ccs4 130 0.0 1 [|v KQT3 + v J8752 5CS-1 100 -50 1
+ 985 + Q743 1NS3 150 0.0 1 [|e T82 + AQ3 3NXN-1 200 -70 1
&3 & A987 3Cs3 110 1.0 1 ||s KQ2 & T6
®IVeN LA84 2NS2 120 1.0 1 PEVEN 4 A7
N 3~~~1 ¢T832 2CSs3 110 1.0 1 N 43~42 o9
S 3~~~1 +KJT 1NS1 90 20 2(|S 43 ~42 ¢KJ
E ~~~~~ aKQ2 2NS-1 50 50 1||E ~~~~~ & AJ8743
W ~~~~~ 3NS-2 100 60 1 ||W ~~~~ ~
#5 # 653 4HS-2 -200 Mean: 4HS4 620 120 2 [|#6 » AT632 3SN-1-50 Mean: 4CE-2 200 50 1
v AJ6542 3CW5-150 o0 5CXW-2 300 70 1 v AT73 2SN2110 20 4DS4 130 3.0 1
. Q2 Dif: -50 NS:-5 3HS4 170 50 1 ¢ T6 Dif: -160 NS:-2 3SN3 140 30 1
A T6 IMP: -2 EW:4 4HS-1 100 30 3 » J9 IMP: -4 EW:-3 3DS3 110 30 1
a T2 » KQ97 3CW3 110 30 2 ||a KJ8 475 2sS3 140 30 1
v 87 v K93 1NW2 120 -3.0 1 ||v QJ964 —_— v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 -40 1 ||e 4 + 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 -200 -5.0 2 ||e Q874 & AK653 4SN-1 -50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 PIVEN 4, QY4 3SN-1 50 20 2
N ~121~ «QT N ~3~32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 S ~3~32 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 4SS4 620 Mean: 4SS5 650 9.0 1 [|#8 a Q54 3NW3 -400 Mean: 3NW-2 100  10.0
v QJB4 4SS4 620 240  4SS4 620 9.0 3 v Q7 3NW3 -400 -370  3NW3 -400 1.0
. Dif: 0 NS:9 5DXE-1 200 10 5 ¢ 9542 Dif: 0 NS:-1  4HW4 420 2.0
» KQ9865 IMP: 0 EW:-9 3NE-2 200 1.0 1 » KT93 IMP: 0 EW:1 3NW5 460  -3.0
» 8732 T 3CN4 130 3.0 1 97 s AJT62
v K962 + v T53 SDE1 100 40 1 ||v A9853 v KT
+ KQ72 ¢ AJ9654 5S8S-1 100 -8.0 1 + AK6 ¢ JT83
& J S & AT2 4SS-4 -400 120 1 ||a& J82 & A7
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4T83 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 6NN-1-50 Mean: 4NN4 430 50 1 ||#10 » 32 1NW1 -90 Mean: 3SW-2 200 80 1
v K3 4HS5 450 260  4HS5 450 50 1 v KT832 3DXS-4 -1100 -130  4SW-1 100 60 1
+ Q54 Dif: -500 NS:-7 3NS5 460 50 1 * K8 Dif: 1010 NS:1  2HN2 110 60 1
» AK63 IMP: -11 EW:-5 3NN5 460 50 5 » AT74 IMP: 14 EW:14 2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 ||s AQ875 » K94 1NW1 90 1.0 6
v JT62 v 94 6NN-1 50 7.0 2 ||e AJ7 + v 64 1NW2 120 00 1
¢ AJT983 *2 5HN-1 50 7.0 1 ||e A4 + QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 ||a& J85 & 962 1NW4 180 -20 1
PIVEN LAQ5 6NN-2 100 -80 1 POVEN L, JT6 3DXS-4 1100 -14.0 1
N ~~4 45 ¢ AQ875 N 2~3~~ Q9%
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21




St - - 2
13 1142 F<F 2RABEEE HL e == RI3 13
L v L
Vo axq
#1: 13 7E1%(196.16) #2: 12 ML A(154.59) #3: 14 Catchall(150.9)
5 NS: FENER BESEREAC) 2 4 NS: fil%5 Z=5E(F0) 11 VP:| 717 : 12.83| Total VP: 110.64 Rank:
EW: & E & B (EFHO) -11 EW: MZRHs #idiE(FC) -2 IMP:| 17 : 25 10
— - I
#1 832 4HEG6 480 Mean: 4SE6 480 30 1 |[|#2 & QJ94 6DS6 -1370 Mean: 6DS6 1370 100 5
v J6 6CW6 920 -570 4SE5 450 3.0 2 v KQJ8 6DS6 -1370 900  6DN6 1370 100 1
¢ J87654 Dif: -440 NS:-8 4HW6 480 3.0 4 *J7 Dif: 0 NS:10 3NS7 720 5.0 1
a Q4 IMP: -10 EW:-3 4HE6 -480 30 3 » 762 IMP: 0 EW:-10 4SS6 680 6.0 2
s A5 » KQT64 3NW6 490 2.0 1 ||e KT852 s 73 5DS6 620 7.0 4
v AK72 v 9543 6CW6 920 80 2 ||w 52 | v T7643 3NN-1 -100 140 1
¢ Q93 . 6HW6 980 90 1||eQ + 98
& K765 & AT92 & AK543 & JT98
®IVEON o097 ®IVeN L A6
N ~~~~~ ¢QT8 N ~6~~2 vA9
S ~~~ ~ ~ 4 AKT2 S ~ 6 ~ ~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 2NS4 -180 Mean: 3NS4 430 70 1 ||#4 » KQ62 2CS4 -130 Mean: 3DN4 130 20 1
v 94 1NS3 -150 140  3NS3 400 60 1 v A64 2CS4-130 80  3CS4 130 20 2
+ AB2 Dif: -30 NS:0 2NS4 180 1.0 1 ¢ 9765 Dif: 0 NS:2 2CS4 130 20 7
» JT654 IMP: -1 EW:-1 1NS4 180 1.0 1 » 95 IMP: 0 EW:-2 2CN4 130 20 1
» J963 s 752 1NN4 180 1.0 1 ||a T84 » J53 2HE-1 100 10 1
v AKQ75 v J6 2Cs4 130 0.0 1 [|v KQT3 + v J8752 5CS-1 100 -50 1
+ 985 + Q743 1NS3 150 0.0 1 [|e T82 + AQ3 3NXN-1 200 -70 1
&3 & A987 3Cs3 110 1.0 1 ||s KQ2 & T6
®IVeN LA84 2NS2 120 1.0 1 PEVEN 4 A7
N 3~~~1 ¢T832 2CSs3 110 1.0 1 N 43~42 o9
S 3~~~1 +KJT 1NS1 90 20 2(|S 43 ~42 ¢KJ
E ~~~~~ aKQ2 2NS-1 50 50 1||E ~~~~~ & AJ8743
W ~~~~~ 3NS-2 100 60 1 ||W ~~~~ ~
#5 # 653 4HS-2 200 Mean: 4HS4 620 120 2 [|#6 » AT632 3SN-150 Mean: 4CE-2 200 50 1
v AJ6542 3CW5150 o0 5CXW-2 300 70 1 v AT73 2SN2 110 20 4DS4 130 3.0 1
* Q2 Dif: 50 NS:-4 3HS4 170 50 1 ¢ T6 Dif: 160 NS:3 3SN3 140 30 1
A T6 IMP: 2 EW:5 4HS-1 100 30 3 » J9 IMP: 4 EW:2 3DS3 110 30 1
a T2 » KQ97 3CW3 110 30 2 ||a KJ8 475 2853 140 30 1
v 87 v K93 1NW2 120 -3.0 1 ||v QJ964 —_— v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 -40 1 ||e 4 + 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 -200 -5.0 2 ||e Q874 & AK653 4SN-1 -50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 PIVEN 4, QY4 3SN-1 50 20 2
N ~121~ «QT N ~3~32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 S ~3~32 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 4SS4 -620 Mean: 4SS5 650 9.0 1 [|#8 a Q54 3NW3 400 Mean: 3NW-2 100  10.0
v QJB4 4SS4 -620 240  4SS4 620 9.0 3 v Q7 3NW3 400 -370 3NW3 -400 1.0
. Dif: 0 NS:9 5DXE-1 200 10 5 ¢ 9542 Dif: 0 NS:-1  4HW4 420 2.0
» KQ9865 IMP: 0 EW:-9 3NE-2 200 1.0 1 » KT93 IMP: 0 EW:1 3NW5 460  -3.0
» 8732 T 3CN4 130 3.0 1 97 s AJT62
v K962 + v T53 SDE1 100 40 1 ||v A9853 v KT
+ KQ72 ¢ AJ9654 5S8S-1 100 -8.0 1 + AK6 ¢ JT83
& J S & AT2 4SS-4 -400 120 1 ||a& J82 & A7
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4T83 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 6NN-1 50 Mean: 4NN4 430 50 1 ||#10 » 32 1NW1 90 Mean: 3SW-2 200 80 1
v K3 4HS5 -450 260  4HS5 450 50 1 v KT832 3DXS-4 1100 -130  4SW-1 100 60 1
+ Q54 Dif: 500 NS:5 3NS5 460 50 1 * K8 Dif: -1010 NS:-14 2HN2 110 60 1
» AK63 IMP: 11 EW:7 3NN5 460 50 5 » AT74 IMP: -14 EW:-1 2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 ||s AQ875 » K94 1NW1 90 1.0 6
v JT62 v 94 6NN-1 50 7.0 2 ||e AJ7 + v 64 1NW2 120 00 1
¢ AJT983 *2 5HN-1 50 7.0 1 ||e A4 + QJT65 28W5 200 20 1
& Q2 & T9875 4NS-1 50 7.0 1 ||a& J85 & 962 1NW4 180 -20 1
PIVEN LAQ5 6NN-2 100 -80 1 POVEN L, JT6 3DXS-4 1100 -14.0 1
N ~~4 45 ¢ AQ875 N 2~3~~ Q9%
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21




. ', ~ ﬁ “ _ 3
13 1142 E< 3 2RBERE L2 = RI3 1
L v L
Vo axq
#1: 13 7E1%(196.16) #2: 12 ML A(154.59) #3: 14 Catchall(150.9)
6 NS: #9881 BB (BHO) -13 1 0 NS: ZERK F&=18(BiC) -7 VP:| 6.86 : 13.14| Total VP: 126.31 Rank:
EW: £&#k £i£f2 ¢EC)7 EW: [R5 4 E(B10) 13 IMP:| 18 : 27 7
— - I
#1 832 4HEG6 -480 Mean: 4SE6 480 30 1 |[|#2 & QJ94 5DS6 620 Mean: 6DS6 1370 100 5
v J6 4SE5 -450 -570  4SES 450 3.0 2 v KQJ8 5DS6 620 900  6DN6 1370 100 1
¢ J87654 Dif: -30 NS:3 4HW6 480 3.0 4 *J7 Dif: 0 NS:-7 3NS7 720 5.0 1
a Q4 IMP: -1 EW:-3 4HE6 -480 30 3 » 762 IMP: 0 EW:7 4SS6 680 6.0 2
s A5 » KQT64 3NW6 490 2.0 1 ||e KT852 473 5DS6 620 7.0 4
v AK72 v 9543 6CW6 920 -80 2 ||w 52 | v T7643 3NN-1 100 140 1
¢ Q93 . 6HW6 980 90 1||eQ + 98
& K765 & AT92 & AK543 & JT98
®IVEON o097 ®IVeN L A6
N ~~~~~ ¢QT8 N ~6~~2 vA9
S ~~~ ~ ~ 4 AKT2 S ~ 6 ~ ~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 3NS-2 -100 Mean: 3NS4 430 70 1 ||#4 » KQ62 2CS4 130 Mean: 3DN4 130 20 1
v 94 2NS2120 140  3NS3 400 60 1 v A64 3NXN-1-200 80  3CS4 130 20 2
+ AB2 Dif: -220 NS:-6 2NS4 180 1.0 1 ¢ 9765 Dif: 330 NsS:2 2Cs4 130 20 7
» JT654 IMP: -6 EW:1 1NS4 180 1.0 1 » 95 IMP: 8 EW:7 2CN4 130 20 1
& J963 s 752 1NN4 180 1.0 1 ||a T84 » J53 2HE-1 100 10 1
v AKQ75 v J6 2Ccs4 130 0.0 1 [|v KQT3 + v J8752 5CS-1 100 -50 1
¢ 985 + Q743 1NS3 150 0.0 1 [|e T82 + AQ3 3NXN-1 200 -70 1
&3 & A987 3Cs3 110 1.0 1 ||s KQ2 & T6
®IVeN LA84 2NS2 120 1.0 1 PEVEN 4 A7
N 3~~~1 ¢T832 2CSs3 110 1.0 1 N 43~42 o9
S 3~~~1 +KJT 1NS1 90 20 2(|S 43 ~42 ¢KJ
E ~~~~~ aKQ2 2NS-1 50 50 1||E ~~~~~ & AJ8743
W ~~~~~ 3NS-2 100 60 1 ||W ~~~~ ~
#5 # 653 1NW2 -120 Mean: 4HS4 620 120 2 [|#6 » AT632 4SN-2 -100 Mean: 4CE-2 200 50 1
v AJ6542 3HS4170 o 5CXW-2 300 70 1 v AT73 4DS4130 20 4DS4 130 3.0 1
. Q2 Dif: -290 NS:-3 3HS4 170 50 1 ¢ T6 Dif: -230 NS:-3 3SN3 140 30 1
A T6 IMP: -7 EW:-5 4HS-1 100 30 3 » J9 IMP: -6 EW:-3 3DS3 110 30 1
s T2 » KQ97 3CW3 110 30 2 ||a KJ8 475 2sS3 140 30 1
v 87 v K93 1NW2 120 -3.0 1 ||v QJ964 —_ v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 <40 1 ||e 4 ¢ 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 -200 -5.0 2 ||e Q874 & AK653 4SN-1 -50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 PIVEN 4, QY4 3SN-1 50 20 2
N ~121~ «QT N ~3~32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 S ~3~32 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 4SS5 650 Mean: 4SS5 650 9.0 1 [|#8 a Q54 3NW3 -400 Mean: 3NW-2 100  10.0
v QJB4 5DXE-1200 240  4SS4 620 9.0 3 v Q7 3NW3 -400 -370 3NW3 -400 1.0
. Dif: 450 NS:9 5DXE-1 200 10 5 ¢ 9542 Dif: 0 NS:-1  4HW4 420 2.0
» KQ9865 IMP: 10 EW:1 3NE-2 200 1.0 1 » KT93 IMP: 0 EW:1 3NW5 460  -3.0
» 8732 T 3CN4 130 3.0 1 97 & AJT62
v K962 + v T53 SDE1 100 40 1 ||v A9853 v KT
+ KQ72 ¢ AJ9654 5S8S-1 100 -8.0 1 + AK6 ¢ JT83
& J S & AT2 4SS-4 -400 120 1 ||a& J82 & A7
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 6NN-2 -100 Mean: 4NN4 430 50 1 ||#10 » 32 1NW1 -90 Mean: 3SW-2 200 80 1
v K3 6NN-1-50 260  4HS5 450 50 1 v KT832 4SW-1100 -130  4SW-1 100 60 1
+ Q54 Dif: -50 NS:-8 3NS5 460 50 1 * K8 Dif: -190 NS:1  2HN2 110 60 1
» AK63 IMP: -2 EW:7 3NN5 460 50 5 » AT74 IMP: -5 EW:-6 2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 ||s AQ875 » K94 1NW1 90 1.0 6
v JT62 v 94 6NN-1 50 7.0 2 ||e AJ7 + v 64 1NW2 120 00 1
¢ AJT983 *2 5HN-1 50 7.0 1 ||e A4 ¢ QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 ||a& J85 & 962 1NW4 180 -20 1
PIVEN LAQ5 6NN-2 100 -80 1 POVEN L, JT6 3DXS-4 1100 -14.0 1
N ~~4 45 ¢ AQ875 N 2~3~~ Q9%
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21




. ', ~ ﬁ “ _ 3
13 1142 E< 3 2RBERE L2 = RI3 1
L v L
Vo axq
#1: 13 7E1%(196.16) #2: 12 ML A(154.59) #3: 14 Catchall(150.9)
7 NS: FiEsl X EGHO) 39 11 NS: FFHIEZ FEEZES)(BAg VP:| 16.59 : 3.41 Total VP: 148.02 Rank:
EW: 575 BEEEEAC) -15 EW: RHET SHET(F( IMP:| 47 : 24 4
— I
#1 832 4HWG6 -480 Mean: 4SE6 480 30 1 |[|#2 & QJ94 5DS6 620 Mean: 6DS6 1370 100 5
v J6 4HEG6 -480 -570  4SE5 450 3.0 2 v KQJ8 6DS6 1370 900  6DN6 1370 100 1
¢ J87654 Dif: 0 NS:3 4HW6 480 3.0 4 *J7 Dif: -750 NS:-7 3NS7 720 5.0 1
a Q4 IMP: 0 EW:-3 4HE6 -480 30 3 » 762 IMP: -13 EW:-10 4SS6 680 6.0 2
s A5 » KQT64 3NW6 490 2.0 1 ||e KT852 s 73 5DS6 620 7.0 4
v AK72 v 9543 6CW6 920 -80 2 ||w 52 | v T7643 3NN-1 100 140 1
¢ Q93 . 6HW6 980 90 1||eQ + 98
& K765 & AT92 & AK543 & JT98
®IVEON o097 ®IVeN L A6
N ~~~~~ ¢QT8 N ~6~~2 vA9
S ~~~ ~ ~ 4 AKT2 S ~ 6 ~ ~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 3NS3 400 Mean: 3NS4 430 70 1 ||#4 » KQ62 2CS4 130 Mean: 3DN4 130 20 1
v 94 1NS190 140 3NS3 400 60 1 v A64 3CS4130 80  3CS4 130 20 2
+ AB2 Dif: 310 NS:6 2NS4 180 1.0 1 ¢ 9765 Dif: 0 Ns:2 2cs4 130 20 7
» JT654 IMP: 7 EW:2 1NS4 180 1.0 1 » 95 IMP: 0 EW:-2 2CN4 130 20 1
& J963 s 752 1NN4 180 1.0 1 ||a T84 » J53 2HE-1 100 10 1
v AKQ75 v J6 2Ccs4 130 0.0 1 [|v KQT3 + v J8752 5CS-1 100 -50 1
+ 985 + Q743 1NS3 150 0.0 1 [|e T82 + AQ3 3NXN-1 200 -70 1
&3 & A987 3Cs3 110 1.0 1 ||s KQ2 & T6
®IVeN LA84 2NS2 120 1.0 1 PEVEN 4 A7
N 3~~~1 ¢T832 2CSs3 110 1.0 1 N 43~42 o9
S 3~~~1 +KJT 1NS1 90 20 2(|S 43 ~42 ¢KJ
E ~~~~~ aKQ2 2NS-1 50 50 1||E ~~~~~ & AJ8743
W ~~~~~ 3NS-2 100 60 1 ||W ~~~~ ~
#5 # 653 4HS4 620 Mean: 4HS4 620 120 2 [|#6 » AT632 2DS3 110 Mean: 4CE-2 200 50 1
v AJ6542 4HS-1-100 © 5CXW-2 300 70 1 v AT73 3DS3110 20 4DS4 130 3.0 1
. Q2 Dif: 720 NS:12 3HS4 170 50 1 ¢ T6 Dif: 0 NS:3 3SN3 140 30 1
A T6 IMP: 12 EW:3 4HS-1 100 30 3 » J9 IMP: 0 EW:-3 3DS3 110 30 1
a T2 » KQ97 3CW3 110 30 2 ||a KJ8 475 2sS3 140 30 1
v 87 v K93 1NW2 120 -3.0 1 ||v QJ964 —_— v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 -40 1 ||e 4 + 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 -200 -5.0 2 ||e Q874 & AK653 4SN-1 -50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 PIVEN 4, QY4 3SN-1 50 20 2
N ~121~ «QT N ~3~32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 S ~3~32 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 4SS4 620 Mean: 4SS5 650 9.0 1 [|#8 a Q54 3NW-2 100 Mean: 3NW-2 100  10.0
v QJB4 3CN4 130 240  4SS4 620 9.0 3 v Q7 3NW3 -400 -370 3NW3 -400 1.0
. Dif: 490 NS:9 5DXE-1 200 10 5 ¢ 9542 Dif: 500 NS:10 4HW4 420 2.0
» KQ9865 IMP: 10 EW:3 3NE-2 200 1.0 1 » KT93 IMP: 11 EW:1  3NW5 460  -3.0
» 8732 T 3CN4 130 3.0 1 97 & AJT62
v K962 + v T53 SDE1 100 40 1 ||v A9853 v KT
+ KQ72 ¢ AJ9654 5S8S-1 100 -8.0 1 + AK6 ¢ JT83
& J S & AT2 4SS-4 -400 120 1 ||a& J82 & A7
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4T83 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 4NS-1-50 Mean: 4NN4 430 50 1 ||#10 » 32 3SW-2200 Mean: 3SW-2 200 80 1
v K3 3NN5460 260 4HS5 450 50 1 v KT832 1NW1 -90 -130  4SW-1 100 60 1
+ Q54 Dif: -510 NS:-7 3NS5 460 50 1 * K8 Dif: 290 NS:8 2HN2 110 60 1
» AK63 IMP: -11 EW:-5 3NN5 460 50 5 » AT74 IMP: 7 EW:-1 2Sw2 410 1.0 1
a7 # J9862 4HN4 420 40 1 ||s AQ875 » K94 1NW1 90 1.0 6
v JT62 v 94 6NN-1 50 7.0 2 ||e AJ7 + v 64 1NW2 120 00 1
¢ AJT983 *2 5HN-1 50 7.0 1 ||e A4 ¢ QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 ||a& J85 & 962 1NW4 180 -20 1
PIVEN LAQ5 6NN-2 100 -80 1 POVEN L, JT6 3DXS-4 1100 -14.0 1
N ~~4 45 ¢ AQ875 N 2~3~~ Q9%
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21




4= E5F 2RBERE B 2

==> R13

13

#1: 13 FfE(196.16) #2: 12 FLA(154.59) #3: 14 Catchall(150.9)

8 NS: R85 {52 Eh(3HO) -29 1 2 NS: RE¥ BER(BIC) 15 VP:| 1.42 18.58 | Total VP: 114.13 Rank:
EW: #E&E L B2 EEIC) -15 EW: 5% 21235 (550) 29 IMP:| 4 39 9
— I
# 832 6HWG6 -980 Mean: 4SE6 480 3.0 1 » QJ94 3NN-1-100 Mean: 6DS6 1370 10.0 5
v J6 6CW6 -920 -570  4SE5 450 3.0 2 v KQJ8 6DS6 1370 900  6DN6 1370 100 1
¢ J87654 Dif: -60 NS:-9 4HW6 480 3.0 4 *J7 Dif: -1470 NS:-14 3NS7 720 5.0 1
a Q4 IMP: -2 EW:8 4HE6 -480 30 3 » 762 IMP: -16 EW:-10 4SS6 680 6.0 2
s A5 » KQT64 3NW6 490 20 1 s 73 5DS6 620 7.0 4
v AK72 v 9543 6CW6 920 80 2 | v T7643 3NN-1 100 140 1
+ Q93 * 6HW6 980 9.0 1 ¢ 98
& K765 & AT92 & JT98
®IVEON o097 ®N A6
~~n~~~ 9QT8 ~2 v A9
~ ~ ~ ~ ~ 4 AKT2 ~ 2 ¢ AKT65432
6~654 aJ83 ~ =~ aQ
6~654 ~ ~
#3 » KQT 2CS4 130 Mean: 3NS4 430 7.0 1 » KQ62 2CS4 130 Mean: 3DN4 130 20 1
v 94 1NS4 180 140  3NS3 400 60 1 v A64 2HE-1100 80  3CS4 130 20 2
+ AB2 Dif: -50 NS:0 2NS4 180 1.0 1 ¢ 9765 Dif: 30 NS:2 2CS4 130 20 7
» JT654 IMP: -2 EW:-1 1NS4 180 1.0 1 » 95 IMP: 1 EW:-1 2CN4 130 20 1
& J963 s 752 1NN4 180 1.0 1 » J53 2HE-1 100 10 1
v AKQ75 v J6 2Ccs4 130 00 1 + v J8752 5CS-1 100 -50 1
¢ 985 ¢ Q743 1NS3 150 0.0 1 ¢ AQ3 3NXN-1 200 -70 1
3 & A987 3CS3 110 1.0 1 & T6
PIVEeN ,A84 2NS2 120 1.0 1 POIVEN 4 A7
3 ~~~1 ¢T832 2Ccs3 110 1.0 1 42 99
3~~~1 oKJT 1NS1 90 20 2 42 ¢ KJ4
~~~~~ aKQ2 2NS-1 50 50 1 ~ ~ & AJB743
~~~~~ 3NS-2 100 6.0 1 ~~
#5 » 653 3CW3 -110 Mean: 4HS4 620 120 2 » AT632 3SN-1-50 Mean: 4CE-2 200 50 1
v AJ6542 4HS4620 o0 5CXW-2 300 70 1 v AT73 4SN-1-50 20 4DS4 130 3.0 1
. Q2 Dif: -730 NS:-3 3HS4 170 50 1 ¢ T6 Dif: 0 NS:-2 3SN3 140 30 1
A T6 IMP: -12 EW:-12 4HS-1 100 30 3 » J9 IMP: 0 EW:2 3DS3 110 30 1
a T2 » KQ97 3CW3 110 3.0 2 475 2sS3 140 30 1
v 87 v K93 1NW2 120 30 1 —_ v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 -40 1 ¢ 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 200 50 2 & AK653 4SN-1 50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 ®N , Q94 3SN-1 50 20 2
N ~121~ ¢QT 32 8 4SN-2 -100 -3.0 2
S ~121~ ¢AJ954 3 2 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 ~~ aT2
W 2~~~2 ~ ~
#7 & A96 558S-1 -100 Mean: 4SS5 650 9.0 1 » Q54 3NW3 -400 Mean: 3NW-2 100 100 1
v QJ84 3NE-2200 240 4SS4 620 9.0 3 v Q7 3NW3 -400 -370 3NW3 -400 1.0 1
. Dif: -300 NS:-8 5DXE-1 200 10 5 ¢ 9542 Dif: 0 NS:-1  4HW4 420 20 1
» KQ9865 IMP: -7 EW:1  3NE-2 200 1.0 1 » KT93 IMP: 0 EW:1 3NW5 460 30 1
» 8732 T 3CN4 130 3.0 1 & AJT62
v K962 + v T53 SDE- 100 40 1 v KT
+ KQ72 ¢ AJ9654 5S8S-1 100 -8.0 1 ¢ JT83
J S & AT2 4SS-4 400 -12.0 1 & A7
®eveN L KQJ54 ®IveN L K83
4 ~~ 4~ 9oA7 ~ ~ ¢ J642
4 ~~3~ oT83 ~~ ¢ Q7
~4~~1 a743 53 & Q654
~4~~1 53
#9 » KT43 3NS5 460 Mean: 4NN4 430 50 1 » 32 1NW1 -90 Mean: 3SW-2 200 80 1
v K3 3NN5460 260 4HS5 450 50 1 v KT832 2SW5 -200 -130  4SW-1 100 60 1
+ Q54 Dif: 0 NS:5 3NS5 460 50 1 + K8 Dif: 110 NS:1  2HN2 110 60 1
» AK63 IMP: 0 EW:-5 3NN5 460 50 5 » AT74 IMP: 3 EW:2 2sw2 410 1.0 1
a7 # J9862 4HN4 420 40 1 » K94 1NW1 90 1.0 6
v JT62 v 94 6NN-1 50 7.0 2 + v 64 1NW2 120 00 1
¢ AJT983 *2 5HN-1 50 7.0 1 + QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 & 962 1NW4 180 -20 1
PEVEN ,AQ5 6NN-2 100 80 1 ®N ,JT6 3DXS-4 1100 -14.0 1
N ~~ 445 ¢AQ875 ~ ~ ¢ Q95
S ~~445 ¢K76 ~ ~ ¢ 9732
E ~~~~~ aJ4 21 & KQ3
W ~~~~~ 21




4= E5F 2RBERE B 2

==> R13

13

#1: 13 FfE(196.16) #2: 12 FLA(154.59) #3: 14 Catchall(150.9)

9 NS: V5] 5RRi&(GH0) -23 1 3 NS: 1585 BRET(BAC) -5 VP:| 4.03 15.97 | Total VP: 104.69 Rank:
EW: 20750 BFFASC(BAC) 5 EW: RiE5 BHEE(FO) 23 IMP:| 15 : 35 1
— . I
# 832 4SE6 -480 Mean: 4SE6 480 3.0 1 » QJ94 5DS6 620 Mean: 6DS6 1370 10.0 5
v J6 4HWG6 -480 -570  4SE5 450 3.0 2 v KQJ8 3NS7720 900 6DN6 1370 100 1
¢ J87654 Dif: 0 NS:3 4HW6 480 3.0 4 *J7 Dif: -100 NS:-7 3NS7 720 5.0 1
a Q4 IMP: 0 EW:-3 4HE6 -480 30 3 » 762 IMP: -3 EW:5 4SS6 680 6.0 2
s A5 » KQT64 3NW6 490 20 1 s 73 5DS6 620 7.0 4
v AK72 v 9543 6CW6 920 80 2 | v T7643 3NN-1 100 140 1
+ Q93 S 6HW6 980 9.0 1 ¢ 98
& K765 & AT92 & JT98
PIVON L, JO7 ®N L A6
~~~~~ 9QT8 ~ 2 v A9
~ ~ ~ ~ ~ ¢ AKT2 ~ 2 ¢ AKT65432
6~654 »J83 ~~ a&Q
6~654 ~ ~
#3 » KQT 3NS4 430 Mean: 3NS4 430 7.0 1 » KQ62 5CS-1-100 Mean: 3DN4 130 20 1
v 94 2CS3110 140  3NS3 400 60 1 v A64 3DN4 130 80  3CS4 130 20 2
+ AB2 Dif: 320 NS:7 2NS4 180 1.0 1 ¢ 9765 Dif: -230 NS:-5 2CS4 130 20 7
» JT654 IMP: 8 EW:1 1NS4 180 1.0 1 » 95 IMP: -6 EW:-2 2CN4 130 20 1
& J963 s 752 1NN4 180 1.0 1 » J53 2HE-1 100 10 1
v AKQ75 v J6 2Ccs4 130 00 1 + v J8752 5CS-1 100 -50 1
¢ 985 ¢ Q743 1NS3 150 0.0 1 ¢ AQ3 3NXN-1 200 -70 1
3 & A987 3CS3 110 1.0 1 & T6
PIVEeN ,A84 2NS2 120 1.0 1 POIVEN 4 A7
3 ~~~1 ¢T832 2Ccs3 110 1.0 1 42 99
3~~~1 oKJT 1NS1 90 20 2 42 ¢ KJ4
~~~~~ aKQ2 2NS-1 50 50 1 ~ ~ & AJB743
~~ o~~~ 3NS-2 100 6.0 1 ~~
#5 » 653 3NS-6 -600 Mean: 4HS4 620 120 2 » AT632 4SN-2 -100 Mean: 4CE-2 200 50 1
v AJ6542 4HS-1-100 © 5CXW-2 300 70 1 v AT73 4SN-1-50 20 4DS4 130 3.0 1
. Q2 Dif: -500 NS:-12 3HS4 170 50 1 ¢ T6 Dif: -50 NS:-3 3SN3 140 30 1
A T6 IMP: -11 EW:3  4HS-1 100 30 3 » J9 IMP: -2 EW:2 3DS3 110 30 1
a T2 » KQ97 3CW3 110 3.0 2 475 2sS3 140 30 1
v 87 v K93 1NW2 120 30 1 —_ v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 -40 1 ¢ 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 200 50 2 & AK653 4SN-1 50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 ®N , Q94 3SN-1 50 20 2
N ~121~ «QT 32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 3 2 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 ~~ aT2
W 2~~~2 ~ ~
#7 & A96 5DE-1100 Mean: 4SS5 650 9.0 1 » Q54 3NW3 -400 Mean: 3NW-2 100 100 1
v QJ84 5DXE-1200 240 4SS4 620 9.0 3 v Q7 3NWS5 -460 -370 3NW3 -400 1.0 1
. Dif: -100 NS:-4 5DXE-1 200 10 5 ¢ 9542 Dif: 60 NS:-1 4HW4 420 20 1
» KQ9865 IMP: -3 EW:1  3NE-2 200 1.0 1 » KT93 IMP: 2 EW:3 3NW5 460 30 1
» 8732 T 3CN4 130 3.0 1 & AJT62
v K962 + v T53 SDE- 100 40 1 v KT
+ KQ72 ¢ AJ9654 5S8S-1 100 -8.0 1 ¢ JT83
J S & AT2 4SS-4 400 -12.0 1 & A7
®eveN L KQJ54 ®IveN L K83
4 ~~ 4~ 9oA7 ~ ~ ¢ J642
4 ~~3~ oT83 ~~ ¢ Q7
~4~~1 a743 53 & Q654
~4~~1 53
#9 » KT43 5HN-1 -50 Mean: 4NN4 430 50 1 » 32 2HN2 110 Mean: 3SW-2 200 80 1
v K3 4HN4 420 260  4HS5 450 50 1 v KT832 INW1-90 -130  4SW-1 100 60 1
+ Q54 Dif: -470 NS:-7 3NS5 460 50 1 * K8 Dif: 200 NS:6 2HN2 110 60 1
» AK63 IMP: -10 EW:-4 3NN5 460 50 5 » AT74 IMP: 5 EW:-1 2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 & K94 1NW1 90 1.0 6
v JT62 v 94 6NN-1 50 7.0 2 + v 64 1NW2 120 00 1
¢ AJT983 *2 5HN-1 50 7.0 1 + QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 & 962 1NW4 180 -20 1
PEVEN ,AQ5 6NN-2 100 80 1 ®N ,JT6 3DXS-4 1100 -14.0 1
N ~~ 445 ¢AQ875 ~ ~ ¢ Q95
S ~~445 ¢K76 ~ ~ ¢ 9732
E ~~~~~ aJ4 21 & KQ3
W ~~~~~ 21




[4ZEZ > ApERE L e — RII 13

#1: 13 FfE(196.16) #2: 12 FLA(154.59) #3: 14 Catchall(150.9)

NS: ZREE #FEHEAC) -7 6 NS: 52)8 8l FEXF(BJO) -1 VP:| 13.14 : 6.86 Total VP: 104.19 Rank:
EW: B3 M8 E EH0) 13 EW: 828X T4 (BiC) IMP:| 27 : 18 12
— - E—
» 832 4HE6 480 Mean: 4SE6 480 3.0 1 |[|#2 » QJ94 5DS6 -620 Mean: 6DS6 1370 100 5
v J6 4SE5 450 -570 4SES 450 3.0 2 v KQJ8 5DS6 -620 900  6DN6 1370 100 1
¢ J87654 Dif: 30 NS:3 4HW6 480 3.0 4 *J7 Dif: 0 NS:-7 3NS7 720 5.0 1
a Q4 IMP: 1 EW:-3 4HE6 -480 30 3 » 762 IMP: 0 EW:7 4SS6 680 6.0 2
» KQT64 3NW6 490 2.0 1 ||e KT852 s 73 5DS6 620 7.0 4
v 9543 6CW6 920 80 2 ||w 52 | v T7643 3NN-1 100 140 1
. 6HW6 980 90 1||eQ + 98
& AT92 & AK543 & JT98
» J97 ®IVeN L A6
v QT8 N ~6~~2 vA9
¢ AKT2 S ~ 6 ~ ~ 2 ¢ AKT65432
» J83 E~~~~~aQ
W ~~~~ ~
» KQT 3NS-2100 Mean: 3NS4 430 70 1||#4 » KQ62 2CS4 130 Mean: 3DN4 130 20 1
v 94 2NS2 -120 140  3NS3 400 60 1 v A64 3NXN-1200 80  3CS4 130 20 2
+ AB2 Dif: 220 NS:-1 2NS4 180 1.0 1 ¢ 9765 Dif: -330 NsS:-7 2CS4 130 20 7
» JT654 IMP: 6 EW:6 1NS4 180 1.0 1 » 95 IMP: -8 EW:-2 2CN4 130 20 1
s 752 1NN4 180 1.0 1 ||a T84 » J53 2HE-1 100 10 1
v J6 2Ccs4 130 0.0 1 [|v KQT3 + v J8752 5CS-1 100 -50 1
¢ Q743 1NS3 150 0.0 1 [|e T82 ¢ AQ3 3NXN-1 200 -70 1
& A987 3Cs3 110 1.0 1 ||s KQ2 & T6
» A84 2NS2 120 1.0 1 POIVEN 4 A7
v T832 2CSs3 110 1.0 1 N 43~42 o9
*» KJT 1NS1 90 20 2(|S 43 ~42 ¢KJ
» KQ2 2NS-1 50 50 1||E ~~~~~ & AJ8743
3NS-2 100 60 1 ||W ~~~~ ~
» 653 1NW2 120 Mean: 4HS4 620 120 2 ||#6 » AT632 4SN-2 100 Mean: A4CE-2 200 50 1
v AJ6542 3HS4-170 o 5CXW-2 300 70 1 v AT73 4DS4 130 20 4DS4 130 3.0 1
* Q2 Dif: 290 NS:5 3HS4 170 50 1 ¢ T6 Dif: 230 NS:3 3SN3 140 30 1
A T6 IMP: 7 EW:3 4HS-1 100 30 3 » J9 IMP: 6 EW:3 3DS3 110 30 1
s T2 » KQ97 3CW3 110 30 2 ||a KJ8 475 2sS3 140 30 1
v 87 v K93 1NW2 120 -3.0 1 ||v QJ964 —_ v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 <40 1 ||e 4 ¢ 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 -200 -5.0 2 ||e Q874 & AK653 4SN-1 -50 20 2
PIVEeN ,AJ4 3NS-6 600 -12.0 1 PIVEN 4, QY4 3SN-1 50 20 2
N ~121~ «QT N ~3~32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 S ~3~32 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
& A96 4SS5 -650 Mean: 4SS5 650 9.0 1 ||#38 » Q54 3NW3 400 Mean: 3NW-2 100 100
v QJ84 5DXE-1-200 240  4SS4 620 9.0 3 v Q7 3NW3 400 -370 3NW3 -400 -1.0
. Dif: -450 NS:-1 5DXE-1 200 10 5 ¢ 9542 Dif: 0 NS:-1  4HW4 420 2.0
» KQ9865 IMP: -10 EW:-9 3NE-2 200 1.0 1 » KT93 IMP: 0 EW:1 3NW5 460  -3.0
aT 3CN4 130 3.0 1 97 & AJT62
+ v T53 5DE1 100 40 1 ||v A9853 v KT
o+ AJ9654 588-1 100 -80 1 ||e AK6 + JT83
S & AT2 4SS-4 -400 120 1 ||a& J82 & A7
» KQJ54 P¢VeSN , K83
v A7 N ~~~~~ ¢ J642
~ ¢ T83 S ~~~~~ 4Q7
1 743 E ~4453 & Q654
1 W ~4453
» KT43 6NN-2 100 Mean: 4NN4 430 50 1 ||#10 » 32 1NW1 90 Mean: 3SW-2 200 80 1
v K3 6NN-150 260 4HS5 450 50 1 v KT832 4SW-1-100 -130 4SW-1 100 60 1
+ Q54 Dif: 50 NS:-7 3NS5 460 50 1 * K8 Dif: 190 NS:6 2HN2 110 60 1
» AK63 IMP: 2 EW:8 3NN5 460 50 5 » AT74 IMP: 5 EW:-1 2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 ||s AQ875 » K94 1NW1 90 1.0 6
vJ v 94 6NN-1 50 7.0 2 ||e AJ7 + v 64 1NW2 120 00 1
3 *2 5HN-1 50 7.0 1 ||e A4 + QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 ||a& J85 & 962 1NW4 180 -20 1
& AQ5 6NN-2 100 -80 1 POVEN L, JT6 3DXS-4 1100 -14.0 1
N v AQ875 N 2~3~~ Q9%
S ¢ K76 S 2~3~~ 49732
E a J4 E ~2~21 &KQ3
w W ~2~21




e V3 % jrir- “ _ 3
13 1142 E< 3 2RBERE L2 = RI3 1
L v L
Vo axq
#1: 13 7E1%(196.16) #2: 12 ML A(154.59) #3: 14 Catchall(150.9)
1 1 NS: SEHEE FEEEEE C) 7 NS: ZBB88 2% T(50) 39 VP:| 3.41 : 16.59| Total VP: 100.78 Rank:
EW: RIHET SHETEI0) EW: Rf7E BRER(FAC) 1 IMP:| 24 : 47 14
— E—
#1 # 832 4HW6 480 Mean: 4SE6 480 3.0 1 |[|#2 » QJ94 5DS6 -620 Mean: 6DS6 1370 10.0 5
v J6 4HE6 480 -570 4SE5 450 30 2 v KQJ8 6DS6 -1370 900  6DN6 1370 100 1
+ J87654 Dif: 0 NS:3 4HW6 480 30 4 *J7 Dif: 750 NS:10 3NS7 720 5.0 1
a Q4 IMP: 0 EW:-3 4HE6 -480 30 3 » 762 IMP: 13 EW:7 4SSé6 680 6.0 2
s A5 » KQT64 3NW6 490 2.0 1 ||a KT852 s 73 5DS6 620 7.0 4
v AK72 v 9543 6CW6 920 80 2 || 52 | v T7643 3NN-1 100 140 1
+ Q93 . 6HW6 980 90 1 (|leQ + 98
* K765 * AT92 & AK543 * JT98
®¢VeN ,J97 PIVeN L AG
N ~~~~~ ¢QT8 N ~6~~2 vA9
S ~ ~~~~ ¢AKT2 S ~ 6 ~~2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 3NS3 -400 Mean: 3NS4 430 70 1||#4 » KQ62 2CS4 130 Mean: 3DN4 130 20 1
v 94 1NS1-90 140 3NS3 400 60 1 v A64 3CS4-130 80  3CS4 130 20 2
+ A62 Dif: -310 NS:-2 2NS4 180 1.0 1 + 9765 Dif: 0 Ns:2 2cs4 130 20 7
» JT654 IMP: -7 EW:-6 1NS4 180 1.0 1 » 95 IMP: 0 EW:2 2CN4 130 20 1
& J963 a 752 1NN4 180 1.0 1 ||a T84 » J53 2HE-1 100 10 1
v AKQ75 v J6 2Ccs4 130 0.0 1 ||v KQT3 + v J8752 5CS-1 100 50 1
¢ 985 ¢ Q743 1NS3 150 0.0 1 [|e T82 ¢ AQ3 3NXN-1 200 7.0 1
&3 & A987 3Cs3 110 1.0 1 ||s KQ2 & T6
PIVEeN ,A84 2NS2 120 1.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2CSs3 110 1.0 1 N 43~42 o9
S 3~~~1 +KJT 1NS1 90 20 2(|S 43 ~42 ¢KJ
E ~~~~~ aKQ2 2NS-1 50 50 1||E ~~~~~ & AJ8743
W ~~~~~ 3NS-2 100 60 1 [|W ~~~~~
#5 # 653 4HS4 -620 Mean: 4HS4 620 120 2 ||#6 » AT632 2DS3 -110 Mean: 4CE-2 200 50 1
v AJ6542 4HS-1100 o 5CXW-2 300 70 1 v AT73 3DS3-110 20 4DS4 130 3.0 1
. Q2 Dif: -720 NS:-3 3HS4 170 50 1 ¢ T6 Dif: 0 NS:3 3SN3 140 30 1
4 T6 IMP: -12 EW:-12 4HS-1 100 30 3 » J9 IMP: 0 EW:-3 3DS3 10 30 1
s T2 & KQ97 3CW3 110 30 2 ||e KJ8 475 2sS3 140 30 1
v 87 v K93 1NW2 120 -3.0 1 ||v QJ964 —_ v K2 2SN2 10 30 1
¢ 63 + KT87 3CW5 150 <40 1 ||e 4 ¢ 9852 2DS3 10 30 1
& AQJ9832 & 74 4HS-2 200 50 2 ||& Q874 & AK653 4SN-1 50 20 2
PIVEeN ,AJ4 3NS-6 600 -12.0 1 PIVEN 4, QY4 3SN-1 50 20 2
N ~121~ QT N ~3~32 ¢85 4SN-2 100 30 2
S ~121~ ¢AJ954 S ~3~32 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 » A96 4SS4 -620 Mean: 4SS5 650 9.0 1 ||#8 » Q54 3NW-2 -100 Mean: 3NW-2 100  10.0
v QJ84 3CN4 -130 240  4Ss4 620 9.0 3 v Q7 3NW3 400 -370 3NW3 -400 -1.0
. Dif: -490 NS:-3 5DXE-1 200 10 5 ¢ 9542 Dif: -500 NS:-1 4HW4 420 2.0
» KQ9865 IMP: -10 EW:-9 3NE-2 200 1.0 1 » KT93 IMP: -11 EW:-10 3NW5 460  -3.0
» 8732 T 3CN4 130 3.0 1 97 & AJT62
v K962 + v T53 SDE1 100 40 1 ||v A9853 v KT
+ KQ72 ¢ AJ9654 5S8S-1 100 -8.0 1 + AK6 ¢ JT83
& J S & AT2 4SS-4 -400 120 1 ||a& J82 & A7
*eveN L, KQJ54 ®eveN ,Ks3
N 4~~4~ A7 N ~~~~~ ¢J642
S 4~~3~ 4T83 S ~~~~~ 4Q7
E ~4~~1 a743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 4NS-150 Mean: 4NN4 430 50 1 [|#10 » 32 3SW-2 -200 Mean: 3SW-2 200 80 1
v K3 3NN5 -460 260  4HS5 450 50 1 v KT832 1NW190 -130  4SW-1 100 60 1
¢ Q54 Dif: 510 NS:5 3NS5 460 50 1 + K8 Dif: 290 NS:1  2HN2 10 60 1
» AK63 IMP: 11 EW:7 3NN5 460 50 5 » AT74 IMP: -7 EW:-8 2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 ||s AQ875 » K94 1NW1 90 1.0 6
v JT62 v 94 6NN-1 50 7.0 2 ||e AJ7 + v 64 1NW2 120 0.0 1
¢ AJT983 2 5HN-1 50 7.0 1 ||e A4 + QJT65 2SW5 200 20 1
& Q2 & T9875 4NS-1 50 <70 1 ||& J85 & 962 1NW4 180 -20 1
PEVEN ,AQ5 6NN-2 100 80 1 POVEN L, JT6 3DXS-4 1100 -14.0 1
N ~~4 45 ¢ AQ875 N 2~3~~ Q9%
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aldd E ~2~21 &KQ3
W ~~~~~ W ~2~21




. ', ~ ﬁ “ _ 3
13 1142 E< 3 2RBERE L2 = RI3 1
L v L
Vo axq
#1: 13 7E1%(196.16) #2: 12 ML A(154.59) #3: 14 Catchall(150.9)
1 2 NS: REF BHEEIC) 15 8 NS: ##54H 5= &(F0) -2 VP:| 18.58 : 1.42 Total VP: 154.59 Rank:
EW: &5 T 2122 EFH0) 29 EW: &R $5EE(FAC) 1 IMP:| 39 : 4 2
— I
#1 832 6HW6 980 Mean: 4SE6 480 30 1 |[|#2 & QJ94 3NN-1 100 Mean: 6DS6 1370 100 5
v J6 6CW6 920 -570 4SE5 450 3.0 2 v KQJ8 6DS6 -1370 900  6DN6 1370 100 1
¢ J87654 Dif: 60 NS:-8 4HW6 480 3.0 4 *J7 Dif: 1470 NS:10 3NS7 720 5.0 1
a Q4 IMP: 2 EW:9 4HE6 -480 30 3 » 762 IMP: 16 EW:14 4SS6 680 6.0 2
s A5 » KQT64 3NW6 490 2.0 1 ||e KT852 s 73 5DS6 620 7.0 4
v AK72 v 9543 6CW6 920 -80 2 ||w 52 | v T7643 3NN-1 100 140 1
¢ Q93 . 6HW6 980 90 1||eQ + 98
& K765 & AT92 & AK543 & JT98
®IVEON o097 ®IVeN L A6
N ~~~~~ ¢QT8 N ~6~~2 vA9
S ~~~ ~ ~ 4 AKT2 S ~ 6 ~ ~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 2CS4 -130 Mean: 3NS4 430 70 1 ||#4 » KQ62 2CS4 -130 Mean: 3DN4 130 20 1
v 94 1NS4 -180 140  3NS3 400 60 1 v A64 2HE-1-100 80  3CS4 130 20 2
+ AB2 Dif: 50 NS:1 2NS4 180 1.0 1 ¢ 9765 Dif: -30 NS:1 2Cs4 130 20 7
» JT654 IMP: 2 EW:0 1NS4 180 1.0 1 » 95 IMP: -1 EW:-2 2CN4 130 20 1
& J963 s 752 1NN4 180 1.0 1 ||a T84 » J53 2HE-1 100 10 1
v AKQ75 v J6 2Ccs4 130 0.0 1 [|v KQT3 + v J8752 5CS-1 100 -50 1
¢ 985 + Q743 1NS3 150 0.0 1 [|e T82 + AQ3 3NXN-1 200 -70 1
&3 & A987 3Cs3 110 1.0 1 ||s KQ2 & T6
®IVeN LA84 2NS2 120 1.0 1 PEVEN 4 A7
N 3~~~1 ¢T832 2CSs3 110 1.0 1 N 43~42 o9
S 3~~~1 +KJT 1NS1 90 20 2(|S 43 ~42 ¢KJ
E ~~~~~ aKQ2 2NS-1 50 50 1||E ~~~~~ & AJ8743
W ~~~~~ 3NS-2 100 60 1 ||W ~~~~ ~
#5 # 653 3CW3 110 Mean: 4HS4 620 120 2 [|#6 » AT632 3SN-150 Mean: 4CE-2 200 50 1
v AJ6542 4HS4 -620 0 5CXW-2 300 70 1 v AT73 4SN-150 20 4DS4 130 3.0 1
. Q2 Dif: 730 NS:12 3HS4 170 50 1 ¢ T6 Dif: 0 NS:-2 3SN3 140 30 1
A T6 IMP: 12 EW:3 4HS-1 100 30 3 » J9 IMP: 0 EW:2 3DS3 110 30 1
a T2 » KQ97 3CW3 110 30 2 ||a KJ8 475 2sS3 140 30 1
v 87 v K93 1NW2 120 -3.0 1 ||v QJ964 —_— v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 -40 1 ||e 4 + 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 -200 -5.0 2 ||e Q874 & AK653 4SN-1 -50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 PIVEN 4, QY4 3SN-1 50 20 2
N ~121~ «QT N ~3~32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 S ~3~32 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 55S-1 100 Mean: 4SS5 650 9.0 1 [|#8 a Q54 3NW3 400 Mean: 3NW-2 100  10.0
v QJB4 3NE-2 -200 240  4SS4 620 9.0 3 v Q7 3NW3 400 -370 3NW3 -400 1.0
. Dif: 300 NS:-1 5DXE-1 200 10 5 ¢ 9542 Dif: 0 NS:-1  4HW4 420 2.0
» KQ9865 IMP: 7 EW:8 3NE-2 200 1.0 1 » KT93 IMP: 0 EW:1 3NW5 460  -3.0
» 8732 T 3CN4 130 3.0 1 97 & AJT62
v K962 + v T53 SDE1 100 40 1 ||v A9853 v KT
+ KQ72 ¢ AJ9654 5S8S-1 100 -8.0 1 + AK6 ¢ JT83
& J S & AT2 4SS-4 -400 120 1 ||a& J82 & A7
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4T83 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 3NS5 -460 Mean: 4NN4 430 50 1 ||#10 » 32 1NW1 90 Mean: 3SW-2 200 80 1
v K3 3NN5 -460 260  4HS5 450 50 1 v KT832 2SW5 200 -130  4SW-1 100 60 1
+ Q54 Dif: 0 NS:5 3NS5 460 50 1 * K8 Dif: -110 NS:-2 2HN2 110 60 1
» AK63 IMP: 0 EW:-5 3NN5 460 50 5 » AT74 IMP: -3 EW:-1 2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 ||s AQ875 » K94 1NW1 90 1.0 6
v JT62 v 94 6NN-1 50 7.0 2 ||e AJ7 + v 64 1NW2 120 00 1
¢ AJT983 *2 5HN-1 50 7.0 1 ||e A4 ¢ QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 ||a& J85 & 962 1NW4 180 -20 1
PIVEN LAQ5 6NN-2 100 -80 1 POVEN L, JT6 3DXS-4 1100 -14.0 1
N ~~4 45 ¢ AQ875 N 2~3~~ Q9%
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21
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#1: 13 FfE(196.16) #2: 12 FLA(154.59) #3: 14 Catchall(150.9)

NS: ZA52% BREREAC) -5 NS: BF5 5RZKI£(BAO) -2 VP:| 1597 : 4.03 Total VP: 196.16 Rank:
EW: BE7 FE5EE0) 23 EW: 2175 EFISZ(BAC) 5 IMP:| 35 : 15 1
— . E—
# 832 4SE6 480 4SE6 480 3.0 1 » QJ94 5DS6 -620 Mean: 6DS6 1370 10.0 5
v J6 4HW6 480 4SE5 450 3.0 2 v KQJ8 3NS7 -720 900  6DN6 1370 100 1
¢ J87654 Dif: 0 4HW6 480 3.0 4 *J7 Dif: 100 NS:-5 3NS7 720 5.0 1
a Q4 IMP: 0 4HE6 -480 30 3 » 762 IMP: 3 EW:7 4SS6 680 6.0 2
» KQT64 3NW6 490 20 1 s 73 5DS6 620 7.0 4
v 9543 6CW6 920 80 2 | v T7643 3NN-1 100 140 1
S 6HW6 980 9.0 1 ¢ 98
& AT92 & JT98
» J97 ®N 4, A6
v QT8 ~ 2 v A9
¢ AKT2 ~ 2 ¢ AKT65432
» J83 ~~ a&Q
» KQT 3NS4 -430 3NS4 430 7.0 1 » KQ62 5CS-1100 Mean: 3DN4 130 20 1
v 94 2CS3 -110 3NS3 400 60 1 v A64 3DN4 -130 80  3CS4 130 20 2
+ AB2 Dif: -320 2NS4 180 1.0 1 ¢ 9765 Dif: 230 NS:2 2CS4 130 20 7
» JT654 IMP: -8 1NS4 180 1.0 1 » 95 IMP: 6 EW:5 2CN4 130 20 1
a 752 1NN4 180 1.0 1 » J53 2HE-1 100 10 1
v J6 2Ccs4 130 00 1 + v J8752 5CS-1 100 -50 1
¢ Q743 1NS3 150 0.0 1 ¢ AQ3 3NXN-1 200 -70 1
& A987 3CS3 110 1.0 1 & T6
» A84 2NS2 120 1.0 1 POIVEN 4 A7
v T832 2Ccs3 110 1.0 1 42 99
o KJT 1NS1 90 20 2 42 ¢ KJ4
» KQ2 2NS-1 50 50 1 ~ ~ & AJB743
3NS-2 100 6.0 1 ~~
» 653 3NS-6 600 4HS4 620 120 2 » AT632 4SN-2 100 Mean: 4CE-2 200 50 1
v AJ6542 4HS-1 100 5CXW-2 300 70 1 v AT73 4SN-150 20 4DS4 130 3.0 1
. Q2 Dif: 500 3HS4 170 50 1 ¢ T6 Dif: 50 NS:-2 3SN3 140 30 1
A T6 IMP: 11 4HS-1 100 30 3 » J9 IMP: 2 EW:3 3DS3 110 30 1
a T2 » KQ97 3CW3 110 3.0 2 475 2sS3 140 30 1
v 87 v K93 1NW2 120 30 1 —_ v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 -40 1 + 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 200 50 2 & AK653 4SN-1 50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 ®N , Q94 3SN-1 50 20 2
N ~121~ «QT 32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 3 2 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 ~~ aT2
W 2~~~2 ~ ~
& A96 5DE-1 -100 4SS5 650 9.0 1 » Q54 3NW3 400 Mean: 3NW-2 100 100 1
v QJ84 5DXE-1 -200 4S84 620 9.0 3 v Q7 3NW5 460 -370 3NW3 -400 1.0 1
. Dif: 100 5DXE-1 200 10 5 ¢ 9542 Dif: -60 NS:-3 4HW4 420 20 1
» KQ9865 IMP: 3 3NE-2 200 1.0 1 » KT93 IMP: -2 EW:1 3NW5 460 30 1
T 3CN4 130 3.0 1 & AJT62
+ v T53 5DE-1 100 40 1 v KT
o+ AJ9654 58S5-1 -100 -80 1 + JT83
S & AT2 4SS-4 400 -12.0 1 & A7
» KQJ54 P¢VeSN , K83
v A7 ~ ~ ¢ J642
~ ¢ T83 ~ ~ ¢ Q7
1 743 53 & Q654
1 53
» KT43 5HN-1 50 4NN4 430 50 1 » 32 2HN2 -110 Mean: 3SW-2 200 80 1
v K3 4HN4 -420 4HS5 450 50 1 v KT832 1NW1 90 -130  4SW-1 100 60 1
+ Q54 Dif: 470 3NS5 460 50 1 + K8 Dif: -200 NS:1  2HN2 110 60 1
» AK63 IMP: 10 3NN5 460 50 5 » AT74 IMP: -5 EW:-6 2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 » K94 1NW1 90 1.0 6
vJ v 94 6NN-1 50 7.0 2 + v 64 1NW2 120 00 1
S *2 5HN-1 50 7.0 1 ¢ QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 & 962 1NW4 180 -20 1
& AQ5 6NN-2 100 -80 1 POVEN L, JT6 3DXS-4 1100 -14.0 1
N v AQ875 ~ ~ ¢ Q95
S ¢ K76 ~ ~ ¢ 9732
E a J4 21 & KQ3
w 21




St - - 2
13 1142 F<F 2RABEEE HL e == RI3 13
L v L
Vo axq
#1: 13 7E1%(196.16) #2: 12 ML A(154.59) #3: 14 Catchall(150.9)
14 NS: #BIRE BREEENERC) 15 1 NS: E}#1E 5RBFH(BO) 16| VP:| 10.77 : 9.23 Total VP: 150.90 Rank:
EW: 5R{EHEH BRMEf2(BHO) -16 EW: &R $B{°#(BAC) 1 IMP:| 15 : 13 3
— . I
#1 832 4SE5 450 Mean: 4SE6 480 30 1 |[|#2 & QJ94 6DS6 -1370 Mean: 6DS6 1370 100 5
v J6 3NW6 490 -570 4SE5 450 3.0 2 v KQJ8 6DN6 -1370 900  6DN6 1370 100 1
¢ J87654 Dif: -40 NS:2 4HW6 480 3.0 4 *J7 Dif: 0 NS:10 3NS7 720 5.0 1
a Q4 IMP: -1 EW:-3 4HE6 -480 30 3 » 762 IMP: 0 EW:-10 4SS6 680 6.0 2
s A5 » KQT64 3NW6 490 2.0 1 ||e KT852 s 73 5DS6 620 7.0 4
v AK72 v 9543 6CW6 920 80 2 ||w 52 | v T7643 3NN-1 100 140 1
¢ Q93 . 6HW6 980 90 1||eQ + 98
& K765 & AT92 & AK543 & JT98
®IVEON o097 ®IVeN L A6
N ~~~~~ ¢QT8 N ~6~~2 vA9
S ~~~ ~ ~ 4 AKT2 S ~ 6 ~ ~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 3CS3 -110 Mean: 3NS4 430 70 1 ||#4 » KQ62 2CS4 -130 Mean: 3DN4 130 20 1
v 94 1NN4 -180 140  3NS3 400 60 1 v A64 2CN4 130 80  3CS4 130 20 2
+ AB2 Dif: 70 NS:1  2NS4 180 1.0 1 ¢ 9765 Dif: 0 Ns:2 2cs4 130 20 7
» JT654 IMP: 2 EW:1 1NS4 180 1.0 1 » 95 IMP: 0 EW:-2 2CN4 130 20 1
» J963 s 752 1NN4 180 1.0 1 ||a T84 » J53 2HE-1 100 10 1
v AKQ75 v J6 2Ccs4 130 0.0 1 [|v KQT3 + v J8752 5CS-1 100 -50 1
+ 985 + Q743 1NS3 150 0.0 1 [|e T82 + AQ3 3NXN-1 200 -70 1
&3 & A987 3Cs3 110 1.0 1 ||s KQ2 & T6
®IVeN LA84 2NS2 120 1.0 1 PEVEN 4 A7
N 3~~~1 ¢T832 2CSs3 110 1.0 1 N 43~42 o9
S 3~~~1 +KJT 1NS1 90 20 2(|S 43 ~42 ¢KJ
E ~~~~~ aKQ2 2NS-1 50 50 1||E ~~~~~ & AJ8743
W ~~~~~ 3NS-2 100 60 1 ||W ~~~~ ~
#5 # 653 5CXW-2 -300 Mean: 4HS4 620 120 2 [|#6 » AT632 3SN3 -140 Mean: 4CE-2 200 50 1
v AJ6542 3CW3110 o 5CXW-2 300 70 1 v AT73 2SS3-140 20 4DS4 130 3.0 1
. Q2 Dif: -410 NS:-3 3HS4 170 50 1 ¢ T6 Dif: 0 NS:3 3SN3 140 30 1
A T6 IMP: -9 EW:-7 4HS-1 100 30 3 » J9 IMP: 0 EW:-3 3DS3 110 30 1
a T2 » KQ97 3CW3 110 30 2 ||a KJ8 475 2sS3 140 30 1
v 87 v K93 1NW2 120 -3.0 1 ||v QJ964 —_— v K2 2SN2 110 30 1
¢ 63 + KT87 3CW5 150 -40 1 ||e 4 + 9852 2DS3 110 30 1
& AQJ9832 & 74 4HS-2 -200 -5.0 2 ||e Q874 & AK653 4SN-1 -50 20 2
PIVEeN LAl 3NS-6 600 -12.0 1 PIVEN 4, QY4 3SN-1 50 20 2
N ~121~ «QT N ~3~32 ¢85 4SN-2 100 -30 2
S ~121~ ¢AJ954 S ~3~32 ¢ AKQJ73 4SN-3 150 -5.0 1
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 4SS-4 400 Mean: 4SS5 650 9.0 1 [|#8 a Q54 3NW3 400 Mean: 3NW-2 100  10.0
v QJB4 5DXE-1-200 240  4SS4 620 9.0 3 v Q7 4HW4 420 -370  3NW3 -400 1.0
. Dif: 600 NS:-1 5DXE-1 200 10 5 ¢ 9542 Dif: -20 NS:-2 4HW4 420 2.0
» KQ9865 IMP: 12 EW:12 3NE-2 200 1.0 1 » KT93 IMP: -1 EW:1  3NW5 460  -3.0
» 8732 T 3CN4 130 3.0 1 97 s AJT62
v K962 + v T53 SDE1 100 40 1 ||v A9853 v KT
+ KQ72 ¢ AJ9654 5S8S-1 100 -8.0 1 + AK6 ¢ JT83
& J S & AT2 4SS-4 -400 120 1 ||a& J82 & A7
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4T83 S ~~~~~ 4Q7
E ~4~~1 4743 E ~4453 aQ654
W ~4~~1 W ~4453
#9 » KT43 4NN4 -430 Mean: 4NN4 430 50 1 ||#10 » 32 1NW2 120 Mean: 3SW-2 200 80 1
v K3 3NN5 -460 260  4HS5 450 50 1 v KT832 1NW4 180 -130  4SW-1 100 60 1
+ Q54 Dif: 30 NS:5 3NS5 460 50 1 + K8 Dif: -60 NS:-2 2HN2 110 60 1
» AK63 IMP: 1 EW:-5 3NN5 460 50 5 » AT74 IMP: -2 EW:0 2SW2 410 1.0 1
a7 # J9862 4HN4 420 40 1 ||s AQ875 » K94 1NW1 90 1.0 6
v JT62 v 94 6NN-1 50 7.0 2 ||e AJ7 + v 64 1NW2 120 00 1
¢ AJT983 *2 5HN-1 50 7.0 1 ||e A4 + QJT65 2SW5 200 -20 1
& Q2 & T9875 4NS-1 50 7.0 1 ||a& J85 & 962 1NW4 180 -20 1
PIVEN LAQ5 6NN-2 100 -80 1 POVEN L, JT6 3DXS-4 1100 -14.0 1
N ~~4 45 ¢ AQ875 N 2~3~~ Q9%
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21




